R EAEEEX
(B) ©fn 5% 44

£ SEEIEIES

AFn 64 3H 31H

5 AR

(BAL - M)
B oE B H N—hTza—a2—X &Gt A GINEES
LR IR AR 101,776,868 101,776,868 0
I e AR 2 I A2 26 80,000 80,000 0
A |35 | £ OMOULTE 437,599 437,599 0
I Y- EAEBIRGEE (D 102,294,467 102,294,467 0
‘7:\ NS¢ 82,933,122 82,933,122 0
|| FEEE 16,749,768 16,749,768 0
B | FEH 15,322,966 15,322,966 0
ﬁ IR AN 2,910,120 2,910,120 0
o> | T | [ R A B o 5 A T 4 B B A1,554,971 A1,554,971 A0
| Fotot 105,708 105,708 0
— A IEEE AR (2) 116,466,713 116,466,713 0
— EAIEEEEGERE 3)=(1D)-(2) A14,172,246 A14,172,246 0
Wi AR ALY AU 373 373 0
| Z Dt DY— v A IHFESMLLE 51,167 51,167 0
‘;: Eay — b AEESNGE R (1) 51,540 51,540 0
|| AR 12,494 12,494 0
£l
G
b
5 _
D Y- AEEHIM A (5) 12,494 12,494 0
*ﬂ‘ T—EAIEEMERERE 6)=(4)-(5) 39,046 39,046 0
REWERBERE (1D=03)+(6) 14,133,200 14,133,200 0
g
i
3] | BRI AEEE () 0 0 0
i
| E
D
5| A ERlE A 9) 0 0 0
FeRIEmERE (10)=(8)-(9) 0 0 0
BHNEEERGER (1) =(7)+(10) 14,133,200 14,133,200 0
o | AT AR BE B HEECERH (12) 3,232,741 3,232,741 0
B Y R AR E R (13)=(11) +(12) 10,900,459 £A\10,900,459 0
{g EASHEE (14 0 0 0
g | £ OLOTIN B EAEE (15) 0 0 0
{% F DM DOFEL AFENEE (16) 0 0 0
i
)
| R R B e (17)=(13) +(14) +(15) - (16) 10,900,459 £A\10,900,459 0




5 AR

EEMEEERXSy FEEBHNRE
(B) 4Ffn 54 48 18 (B) 4Ffn 64 37 31H
(BAL - M)
B oE B H FEXSAF
LR IR AR 101,776,868
I e AR 2 I A2 26 80,000
W |25 | OHOULEE 437,599
I Y- EAEBIRGEE (D 102,294,467
MRS 82,933,122
= | FEE 16,749,768
B | FEH 15,322,966
ﬁ IR AN 2,910,120
o> | T | L A B 4 S5 R R N7 o B R A1,554,971
| Fotot 105,708
H— e ATREVE G (2) 116,466,713
— EAIEEEEGERE 3)=(1D)-(2) A14,172,246
A gy | IR X A 373
| Z DO Y — v AIFEIMLLE 51,167
g‘ 4t — e AEBSNGE R (4 51,540
|| AR 12,494
£l
G
b
5 _
D Y — B ATEESN R HE (5) 12,494
*ﬂ‘ T—EAIEEMERERE 6)=(4)-(5) 39,046
REWERBERE (1D=03)+(6) 14,133,200
g
i
1] | i RIS EE (8) 0
b
| E
D
5| A ERlE A 9) 0
FERI A FERE (10)=(8)-(9) 0
BHNEEERGER (1) =(7)+(10) 14,133,200
o | AT AR BE B HEECERH (12) 3,232,741
B Y R AR E R (13)=(11) +(12) A\10,900,459
{g EASHEE (14 0
| T OMOFEL S BUREE (15) 0
{% F DM DOFEL AFENEE (16) 0
i
)
| R R B e (17)=(13) +(14) +(15) - (16) 10,900,459




